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QUESTION 1

When a SAS Web Report Studio report is built, the default behavior is to produce an aggregated report with measures
summed. Average is a more appropriate aggregation for an age data item. In the information map, how can the
aggregation be changed to average the measures?

A. Change the default aggregation function to MEAN on the Properties of the data item.

B. After the default aggregation is set, it cannot be changed in the information map.

C. Change the measure\\'s classification to MEAN.

D. Change the format of the data item to AVERAGEw.d.

Correct Answer: A

QUESTION 2

What is the significance of the %STPBEGIN statement? (Choose two.)
A. Initializes the ODS system

B. Initiates the prompting for parameters

C. Processes the user written SAS code

D. Generates the reserve macro variables

Correct Answer: AD

QUESTION 3

Which combination of data sources is valid in aninformation map?
A. One table and one cube

B. One cube and one stored process

C. One cube combined with a second cube

D. One table and one stored process

Correct Answer: A

QUESTION 4
Which SAS code statement is defined by the Library metadata object?

A. The LIBNAME statement
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B. The FILENAME statement
C. The PROC METALIB statement
D. The OPTIONS statement

Correct Answer: A

QUESTION 5

Which structure is not permitted in a SAS OLAP Cube design?

A. A dimension with one hierarchy

B. A dimension with two or more hierarchies that share the same level
C. Two or more dimensions that have unique counts

D. Two or more dimensions that are a TIME type dimensions

Correct Answer: B
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